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. Start with any initial partial plan, 0.

. Find a flaw in o, which may be 1) an operator precondition

that has not achieved, or 2) an operator in O, that threatens
a causal constraint in C,.

. If there is no flaw, then report that o is a complete solution and

compute a lincar ordering of O, that satisfics all constraints.

. If the flaw is an unachieved precondition, [, for some operator

05, then find an operator, oy, that achicves it and record a new
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. If the flaw is a threat on a causal link, then the threat must

be removed by updating <, to induce an appropriate operator
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. Return to Step 2.
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